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2.4 The Quotient Rule

Theorem
Given two differentiable functions f (x) and g(x), then the quotient function

o) ,
H()—g(x) ,,7( )7 o
is also differentiable, and
H(x) = ()~ F(x)g'(x)
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Example 2.4.1 _ Corn) >
Differentiate using the Quotient Rule, simplifying as much as possible.
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Example 2.4.2
Differentiate, and simplify.

9(x)= (2x+1)
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Example 2.4.3
Differentiate and simplify. ' Nohe
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Example 2.4.4 z
Differentiate and simplify. (\ﬁu ) =

h(x):(4x2—5)3
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Example 2.4.5
From your text, Pg. 97 #7
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Example 2.4.6
From your text, Pg. 97 #5d

i (:(41)(3\;.2.)
’De"éfwiﬂf\@ C,T\% E\Jr ;(_,qf- ,_FJ, 3 =

CRRICES
/To Qw{(»% ¥ u—’lw f)(f?‘-ﬂl ‘}{A« Mwu)vf ':' PN

2 a4z

-:’ _____________.—-"
a 2_2-"' 3:\*‘2

/_= (21«} ‘3)(1]'- ot ) — (7\.2'-1 EENES 2)(2_;-5)
9 (;&L—Bu 42)L

(2.[‘7) kb)(qiz -—3(0()5(-2.) — (/.]—21_ 3\4} *_21) (2(4,) .-J)

\r\"-’!" lﬁﬂ. -
ST Y —
=L

(4/2 - 3« 42,))'

" - S S
50 7 2

Class/Homework for Section 2.4

Pg.97-98 #2,4-6,8-13,15
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